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Formulas for calculating time*group interaction effect sizes 

𝑑 = √𝐹 (
𝑛𝐼𝐺 + 𝑛𝐶𝐺

𝑛𝐼𝐺 ∗ 𝑛𝐶𝐺
) ∗ (

𝑛𝐼𝐺 + 𝑛𝐶𝐺

𝑛𝐼𝐺 + 𝑛𝐶𝐺 − 2
) 

𝑑 = 𝑡√(
𝑛𝐼𝐺 + 𝑛𝐶𝐺

𝑛𝐼𝐺 ∗ 𝑛𝐶𝐺
) ∗ (

𝑛𝐼𝐺 + 𝑛𝐶𝐺

𝑛𝐼𝐺 + 𝑛𝐶𝐺 − 2
) 

𝑑 =
𝑚𝑒𝑎𝑛𝐷𝐼𝐹𝐹 𝐼𝐺 − 𝑚𝑒𝑎𝑛𝐷𝐼𝐹𝐹 𝐶𝐺

√
(𝑛𝐼𝐺 − 1) ∗ 𝑆𝐷𝐷𝐼𝐹𝐹 𝐼𝐺 

2 + (𝑛𝐶𝐺 − 1) ∗ 𝑆𝐷𝐷𝐼𝐹𝐹 𝐶𝐺
2

𝑛𝐼𝐺 + 𝑛𝐶𝐺

  

with d=Cohen’s d effect size, F=F statistic, meanDIFF CG=baseline-post mean difference in control group, 

meanDIFF IG=baseline-post mean difference in intervention group, nCG=number of subjects in control 

group, nIG= number of subjects in intervention group, SD2
DIFF CG=standard deviation of baseline-post 

difference in control group, SD2
DIFF IG= standard deviation of baseline-post difference in intervention 

group, t=t statistic [34]. 
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